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(1) 2L +800mL — 7dL X 2 = mL = L dL
(2) (5000mL +6dL) ~7= dL = mL
(3) 8dL +250mL x 10— 15dL = mL = L dL
(4) (105dL +4500mL) ~3= mL = dL = L
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(1) 5OMEHA100% L & 100MEH 100 =
(2) 100AEH150% L) & 1000H &> A 15 (1=
(3) 500MEA500% 0\ & 1000H&DH250% =
(4) 5OMEH2200% 0 & 1008 EABS0E (=
(5) 100MEA365%0) & 1000H&DH105% 1=
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(1) 1050%x1000= (2) 851 5%x1000=
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(1) 8X5+2= (2) 24+-3%X4= (3) 25%X4+10=
(4) 712+-8X7= (5) 54-+-9X9= (6) 500+20+5=

(7) 560+7+40= (8) 4500+-5+100=
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(2) 268+40= HEY TeLhHE X 40 + =
(3) 666+70= HEY TeUhHE&E X70+ =
(4) 999+-99= HEY TeULhHE&E X 99 + =
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(1) 3250m= km m (2) 1T0km50m= m

(3) 5960mm= m cm (4) 80000cm= m

(5) 4555cm= m cm (6) 2000000m= km
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(1) 7TkmXx8= km (2) 370mXxX6= km m
(3) 2km800m+7= m (4) 54000mm-+-6= m
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